IC312

Homework: Week 10 – Minimum Spanning Trees and Shortest Paths
Due: Friday, 26 October
1.
Find the minimum spanning tree for the graph shown below.
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2.
Textbook exercises
a. R-13.18
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b. C-13.17
The greedy algorithm presented in this problem is not guaranteed to find the shortest path between vertices in graph. This can be seen by counterexample. Consider the following weighted graph:

[image: image4.emf]
Suppose we wish to find the shortest path from start = A to goal = D and we make use of the proposed greedy strategy. Starting at A, the algorithm will next place B in path (because (A,B) is the minimum cost edge incident on A and set start equal to B. The lightest edge incident on start = B which has not yet been traversed is (B,D). As a result, D will be appended to path and start will be assigned D. At this point the algorithm will terminate (since start = goal = D). In the end we have that path = A,B,D, which is not the shortest path from A to D. 

